ASYMPTOTIC DOUBLE SUBSERIES

Richard F. Patterson, H. M. Srivastava, and Ekrem Savaş

ABSTRACT. In 1964 Šalát presented a notion of asymptotic density of single dimensional subseries. Using this notion he presented a series of theorems similar to the following. If d_n be a decreasing sequence such that $\liminf_n n d_n > 0$ and let the subseries $(x) = \sum_{k=1}^{\infty} \epsilon_k(x) d_k$ of the series $\sum_{k=1}^{\infty} d_k$ be convergent, then $p(x) = \lim_n \frac{p(n,x)}{n} = 0$. Following Šalát's patten, we present a notion of double subseries and a natural variation of Šalát's theorem.

1. Definitions, Notations, and Preliminary Results

The main goal of this paper is introduce the notion of double subseries. To that end we begin with the following notions of convergence in the Pringshiem sense and subsequence of a double sequence.

DEFINITION 1.1 (Pringsheim, 1900). A double sequence $x = \{x_{k,l}\}$ has a *Pring-sheim limit* L (denoted by P-lim x = L) provided that, given an $\epsilon > 0$ there exists an $N \in \mathbb{N}$ such that $|x_{k,l} - L| < \epsilon$ whenever k, l > N. Such an $\{x\}$ is described more briefly as "P-convergent".

In the later stage different classes of double sequences were introduced and studied in [1,7-11].

DEFINITION 1.2. A double sequence is *totally null* provided that its Pringsheim, rows, and columns limits are all zero.

Following this notion of convergent in the Pringsheim sense the author introduce the following notion of subsequence of a double sequence.

DEFINITION 1.3 (Patterson, 2000). A double sequence $\{y\}$ is a double subsequence of $\{x\}$ provided that there exist increasing index sequences $\{n_j\}$ and $\{k_j\}$

²⁰²⁰ Mathematics Subject Classification: Primary 40B05, Secondary 40C05. Key words and phrases: double sequences, double subseries, P-convergent. Communicated by Gradimir Milovanović.

such that, if $\{x_j\} = \{x_{n_j,k_j}\}$, then $\{y\}$ is formed by

Using this notion the author present a series of natural characterization of double sequences in [4]. In a similar manner the goal includes the introduce of new notion of double subseries and the presentation of natural variation and implications of the following theorem. If d_n be a decreasing sequence such that $\liminf_n n d_n > 0$ and let the subseries $(x) = \sum_{k=1}^{\infty} \epsilon_k(x) d_k$ of the series $\sum_{k=1}^{\infty} d_k$ be convergent then $\lim_n \frac{1}{n} \sum_{k=1}^n \epsilon_k(x) = 0$. It shall be observed that in 2012 Ganguly and Dafadar presented a definition of double subseries similar to the one presented here and two theorems that are similar to the main theorems below without proof in [3]. To that end let us consider the following double series

(1.1)
$$S = \sum_{m,n=1,1}^{\infty,\infty} a_{m,n} = \begin{bmatrix} a_{1,1} + a_{1,2} + a_{1,3} + \cdots \\ a_{2,1} + a_{2,2} + a_{2,3} + \cdots \\ \vdots + \vdots + \vdots + \cdots \\ \vdots + \vdots + \vdots + \cdots \end{bmatrix}$$

and let

be an increasing sequence of natural numbers in each row and define $k_1^j = d_{j,1}$, $k_2^j = d_{j,2}$, $k_3^j = d_{j,3}$, \cdots and $l_1^i = d_{1,i}$, $l_2^i = d_{2,i}$, $l_3^i = d_{3,i}$, \cdots , where $i, j = 1, 2, 3, 4, \ldots$. The double series

$$\sum_{m,n=1,1}^{\infty,\infty} a_{k_m^n,l_n^m} = \begin{bmatrix} a_{k_1^1,l_1^1} & + & a_{k_1^2,l_2^1} & + & a_{k_1^3,l_3^1} & + & \cdots & + & a_{k_1^n,l_n^1} & + \cdots \\ a_{k_2^1,l_1^2} & + & a_{k_2^2,l_2^2} & + & a_{k_2^3,l_3^2} & + & \cdots & + & a_{k_2^n,l_n^2} & + \cdots \\ \vdots & + & \vdots & + & \vdots & + & \cdots & + & \vdots & + \cdots \\ \vdots & + & \vdots & + & \vdots & + & \cdots & + & \vdots & + \cdots \end{bmatrix}$$

is called the double subseries of the double series (1.1). Let us now consider a single dimensional sequence of numbers of in the interval (0,1] in their dyadic expansions with infinity many digits to, thus to each element x^k of the sequence of $\{x^k\}_{k=1}^{\infty}$ in (0,1], will yields following expression

(1.2)
$$x^{k} = \sum_{l=1}^{\infty} \alpha_{k,l}(x) 2^{-l}.$$

where $\alpha_{k,l}(x) = 0$ or 1 and for infinite number of l with fixed k, $\alpha_{k,l}(x) = 1$. The following double infinite series can be associated with (1.2)

$$(1.3) S_x = \sum_{k,l=1,1}^{\infty,\infty} \alpha_{k,l}(x) a_{k,l}.$$

The method grants us to tools to transfer the set of all double series of a given series into (0,1]. Let us consider the subseries (1.3) of the series (1.1), and define it in the following manner

$$p(k, l, x) = \sum_{\delta, \delta' = 1, 1}^{k, l} \alpha_{\delta, \delta'}(x).$$

Then numbers

$$p_1(x) = \operatorname{P-lim\,inf}_{k,l \to \infty} \frac{p(k,l,x)}{kl} \quad \text{and} \quad p_2(x) = \operatorname{P-lim\,sup}_{k,l \to \infty} \frac{p(k,l,x)}{kl},$$

shall be called the Pringsheim lower and upper asymptotic density of the series (1.3) in (1.1). In addition if these limits exist we shall called the following number the Pringsheim asymptotic density of the series (1.3) in (1.1):

$$p(x) = \underset{k,l \to \infty}{\text{P-lim}} \frac{p(k,l,x)}{kl}.$$

Let us now define lower and upper; row and column asymptotic densities and their corresponding row and column densities. The respective pair of numbers defined lower and upper row asymptotic densities and lower and upper column asymptotic densities,

$$p_1^r(x) = \liminf_{l \to \infty} \frac{p(k,l,x)}{l}, \text{ for each } k, \quad p_2^r(x) = \limsup_{l \to \infty} \frac{p(k,l,x)}{l}, \text{ for each } k,$$

$$p_1^c(x) = \liminf_{k \to \infty} \frac{p(k,l,x)}{k}, \text{ for each } l, \quad p_2^c(x) = \limsup_{k \to \infty} \frac{p(k,l,x)}{k}, \text{ for each } l.$$

Corresponding to the lower and upper column and row densities we are granted the following densities

$$p^r(x) = \lim_{l \to \infty} \frac{p(k, l, x)}{l}$$
, for each k ; $p^c(x) = \lim_{k \to \infty} \frac{p(k, l, x)}{l}$, for each l .

It should be noted that $p_1^r(x), p_2^r(x), p^r(x), p_1^c(x), p_2^c(x), p^r(x), p_1(x), p_2(x), p(x)$ are all in [0,1]. The following is an example where the Pringsheim, row, and column densities all exist.

Example 1.1. If $a_{k,l} = \frac{1}{kl}$; $k,l = 1,2,3,4,5,\ldots$ and $S_x = \sum_{k,l=1,1}^{\infty,\infty} \alpha_{k,l}(x) a_{k,l}$ is convergent in the Pringsheim, row-wise, and column-wise sense them

$$p_1^r(x), p_2^r(x), p_1^r(x), p_1^c(x), p_2^c(x), p_1^r(x), p_1(x), p_2(x), p(x)$$

are zero.

2. Main Results

Theorem 2.1. Let $\{a_{k,l}\}$ be a totally null double sequence and

P-
$$\lim_{k,l} \inf k l a_{k,l} > 0.$$

Let the double subseries $S_x = \sum_{k,l=1,1}^{\infty,\infty} \alpha_{k,l}(x) a_{k,l}$ of the double series $\sum_{k,l=1,1}^{\infty,\infty} a_{k,l}$ be P-convergent. Then

$$p(x) = P-\lim_{k,l} \frac{p(k,l,x)}{kl} > 0$$

implies that S_x is divergent.

PROOF. Let us assume $p_2(x) = \text{P-lim} \sup_{k,l \to \infty} \frac{p(k,l,x)}{kl} > 0$, then there exist k and l such that $p(k,l,x) > \delta' k l$. In addition there exists $\delta > 0$ such that $k l a_{k,l} \geqslant \delta$ for all $k,l=1,2,3,4,\ldots$ In a manner to Šalát presentation in $[\mathbf{6}]$ we now consider arbitrary natural numbers K and L and let $\epsilon = \frac{1}{2}\delta'\delta$ and choose k_0 and l_0 such that $k_0 > K$ and $l_0 > L$, $p(k_0,l_0,x) > \delta' k_0 l_0$, and $K L a_{k_0,l_0} < \frac{1}{2}\delta'\delta = \epsilon$. Now it is clear for the k_0 and l_0 above we are granted the following estimation

$$\sum_{r,s=K+1,L+1}^{k_0,l_0} \alpha_{r,s}(x) a_{r,s} \geqslant a_{k_0,l_0} \sum_{r,s=K+1,L+1}^{k_0,l_0} a_{r,s}(x)$$

$$= a_{k_0,l_0} \left[\sum_{r,s=1,1}^{k_0,l_0} a_{r,s}(x) - \sum_{r,s=1,1}^{K,L} a_{r,s}(x) \right]$$

$$> a_{k_0,l_0} [\delta' k_0 l_0 - KL]$$

Thus via the Cauchy-Bolzano theorem [2] the double series S_x is not convergent. \square

The following corollaries are natural extension of the above theorem.

COROLLARY 2.1. Let $\{a_{k,l}\}$ be a column null double sequence (i.e. each column is a null sequence) and $\liminf_{k\to\infty} ka_{k,l} > 0$ for each l. Let the double subseries $S_x = \sum_{k,l=1,1}^{\infty,\infty} \alpha_{k,l}(x)a_{k,l}$ of the double series $\sum_{k,l=1,1}^{\infty,\infty} a_{k,l}$ be column convergent. Then

$$p^{c}(x) = \lim_{k \to \infty} \frac{p(k, l, x)}{k} = 0$$
, for each l .

COROLLARY 2.2. Let $\{a_{k,l}\}$ be a row null double sequence (i.e. each row is a null sequence) and $\liminf_{l\to\infty} la_{k,l} > 0$, for each k. Let the double subseries $S_x = \sum_{k,l=1,1}^{\infty,\infty} \alpha_{k,l}(x) a_{k,l}$ of the double series $\sum_{k,l=1,1}^{\infty,\infty} a_{k,l}$ be row convergent. Then

$$p^r(x) = \lim_{l \to \infty} \frac{p(k, l, x)}{l} = 0$$
, for each k.

That the conditions $d_{i,j} \ge d_{i,j+1}$, $d_{i,j} \ge d_{i+1,j}$, and $d_{i,j} \ge d_{i+1,j+1}$ in the above theorem are important, illustrates by the following example.

Example 2.1.

$$\sum_{k,l=1,1}^{\infty,\infty} a_{k,l} = \left(\frac{1}{1\cdot 1} + \frac{1}{2\cdot 1} + \frac{1}{2^2\cdot 1}\right) + \left(\frac{1}{2\cdot 1} + \frac{1}{2^2\cdot 1} + \frac{1}{2^4\cdot 1}\right) \\ + \left(\frac{1}{3\cdot 1} + \frac{1}{2^5\cdot 1} + \frac{1}{2^6\cdot 1}\right) + \left(\frac{1}{4\cdot 1} + \frac{1}{2^7\cdot 1} + \frac{1}{2^8\cdot 1}\right) \\ \vdots \\ + \left(\frac{1}{n\cdot 1} + \frac{1}{2^{2n-1}\cdot 1} + \frac{1}{2^{2n}\cdot 1}\right) \\ + \left(\frac{1}{1\cdot 2} + \frac{1}{2\cdot 2} + \frac{1}{2^2\cdot 2}\right) + \left(\frac{1}{2\cdot 2} + \frac{1}{2^2\cdot 2} + \frac{1}{2^4\cdot 1}\right) \\ + \left(\frac{1}{3\cdot 2} + \frac{1}{2^5\cdot 2} + \frac{1}{2^6\cdot 2}\right) + \left(\frac{1}{4\cdot 2} + \frac{1}{2^7\cdot 2} + \frac{1}{2^8\cdot 2}\right) \\ \vdots \\ + \left(\frac{1}{n\cdot 2} + \frac{1}{2^{2n-1}\cdot 2} + \frac{1}{2^2\cdot 2^m}\right) + \left(\frac{1}{2\cdot 2^m} + \frac{1}{2^2\cdot 2^m} + \frac{1}{2^4\cdot 1}\right) \\ + \left(\frac{1}{3\cdot 2^m} + \frac{1}{2^5\cdot 2^m} + \frac{1}{2^6\cdot 2^m}\right) + \left(\frac{1}{4\cdot 2^m} + \frac{1}{2^7\cdot 2^m} + \frac{1}{2^8\cdot 2^m}\right) \\ \vdots \\ + \left(\frac{1}{n\cdot 2^m} + \frac{1}{2^{2n-1}\cdot 2^m} + \frac{1}{2^{2n}\cdot 2^m}\right) \\ \vdots \\ + \left(\frac{1}{n\cdot 2^m} + \frac{1}{2^{2n-1}\cdot 2^m} + \frac{1}{2^{2n}\cdot 2^m}\right) \\ \vdots \\ \vdots$$

Now clearly the double subseries $\sum_{i,j=1,1}^{\infty,\infty} \frac{1}{2^{i+j}}$ is a P-convergent sequence and its asymptotic density in the original series is $\frac{4}{9}$.

We will also establish by example that the condition P- $\liminf_{k,l} k l a_{k,l} > 0$ can to be replace by the weaker condition $\sum_{k,l=1,1}^{\infty,\infty} a_{k,l} = +\infty$.

Example 2.2. If we let m, n = 1, 2, 3, 4, ...

$$a_{m^{m+k_m},n^{n+l_n}} = \frac{1}{m^{m+2}n^{n+2}},$$

where k_m and l_n are integers such that $0 \le k_m < (m+1)^{m+1} - m^m$ and $0 \le l_n < (n+1)^{n+1} - n^n$.

For a double sequence with elements defined as follow $k_m = 2m^m$ and $l_n = 2n^n$ we granted that $P(2m^m, 2n^n, x) \ge m^m n^n$ which implies that $p_2(x) \ge \frac{1}{4}$ and with $k_m = (m+1)^{m+1}$ and $l_n = (n+1)^{n+1}$ and consider

$$P((m+1)^{m+1}-1,(n+1)^{n+1}-1,x)$$

this implies that $p_1(x) = 0$. Thus Theorem 2.1 false.

THEOREM 2.2. Let $\sum_{k,l=1,1}^{\infty,\infty} a_{k,l} = \infty$, let there exist r and s such that

Then

$$S_x = \sum_{k,l=1,1}^{\infty,\infty} \alpha_{k,l}(x) a_{k,l} < +\infty$$

where $\alpha_{k,l}(x)$ is defined above. Then

$$p_1(x) = \operatorname{P-lim inf}_{k,l \to \infty} \frac{p(k,l,x)}{kl} = 0.$$

PROOF. Let us assume $p_1(x) > 0$. Then there exists $\delta > 0$ such that for all $k \ge r \ge \phi$ and $l \ge s \ge \psi$ with $r \ge 2$ and $s \ge 2$, respectively, and $p(k,l,x) \ge kl\delta > 0$. Then by the following variation of double Able's summation formula we obtain the following

$$\begin{split} \sum_{i,j=r,s}^{r+\alpha',s+\beta'} \alpha_{i,j}(x) a_{i,j} &= -p(r-1,s-1,x) a_{r,s-1} + p(r,s-1,x) (a_{r,s-1} - a_{r+1,s-1}) \\ &+ p(r+1,s-1,x) (a_{r+1,s-1} - a_{r+2,s-1}) \\ &\vdots \\ &+ p(r+\alpha'-1,s-1,x) (a_{r+\alpha'-1,s-1} - a_{r+\alpha',s-1}) \\ &+ -p(r-1,s,x) a_{r,s} + p(r,s,x) (a_{r,s} - a_{r+1,s}) \\ &+ p(r+1,s,x) (a_{r+1,s} - a_{r+2,s}) \\ &\vdots \\ &+ p(r+\alpha'-1,s,x) (a_{r+\alpha'-1,s} - a_{r+\alpha',s}) \\ &+ -p(r-1,s+1,x) a_{r,s+1} + p(r,s+1,x) (a_{r,s+1} - a_{r+1,s+1}) \\ &+ p(r+1,s+1,x) (a_{r+1,s+1} - a_{r+2,s+1}) \\ &\vdots \\ &+ p(r+\alpha'-1,s+1,x) (a_{r+\alpha'-1,s+1} - a_{r+\alpha',s+1}) \\ &\vdots \\ &+ -p(r-1,s+\beta'-1,x) a_{r,s+\beta'-1} \end{split}$$

$$+ p(r, s + \beta' - 1, x)(a_{r,s+\beta'-1} - a_{r+1,s+\beta'-1}) + p(r+1, s+\beta', x)(a_{r+1,s+\beta'} - a_{r+2,s+\beta'-1}) \vdots + p(r+\alpha' - 1, s+\beta', x)(a_{r+\alpha'-1,s+\beta'-1} - a_{r+\alpha',s+\beta'-1}) \ge -[p(r-1, s-1, x) + p(r-1, s, x) + p(r-1, s+1, x) + \dots + p(r-1, s+\beta'-1, x)] + \delta \sum_{i,i=r,s}^{r+\alpha',s+\beta'} a_{i,j}$$

it is clear the that right side sum to ∞ . Thus the theorem is proven.

Similar to Corollary 2.1 and theorem 2.2 above we are granted the following:

COROLLARY 2.3. Let $\sum_{l=1}^{\infty} a_{k,l} = \infty$ for each k, let there exist r such that

Then

$$S_x^k = \sum_{l=1}^{\infty} \alpha_{k,l}(x) a_{k,l} < +\infty$$

for each k where $\alpha_{k,l}(x)$ is defined above. Then

$$p_1^r(x) = \liminf_{l \to \infty} \frac{p(k, l, x)}{l} = 0$$

for each k.

References

- A. M. Alotaibi, M. Mursaleen, S. K. Sharma, Double sequence spaces over n-normed spaces defined by a sequence of Orlicz functions, J. Inequal. Appl. 2014(1) (2014).
- J. A. Fridy, Introductory analysis. The theory of calculus, 2nd Harcourt/Academic Press, San Diego, CA, 2000.
- 3. D. K. Ganguly, A. Dafadar, On Subscries of double series, Real Anal. Exch. 34 (2012), 36**38.
- R. F. Patterson, Analogues of some fundamental theorems of summability theory, Int. J. Math. Math. Sci. 23(1) (2000), 1–9.
- A. Pringsheim, Zur theorie der zweifach unendlichen zahlenfolgen, Math. Ann. 53 (1900), 289–321.
- T. Šalát, 2017On subseries, Math. Z. 85 (1964), 209–225.
- 7. E. Savaş, I_{λ} -double statistical convergence of order α in topological groups, Ukr. Math. J. **68**(9) (2017), 1–10.
- 8. _____, On lacunary double statistical convergence in locally solid Riesz spaces, J. Ineq. Appl. **2013** (2013), 99.
- R. Savaş Eren, E. Savas, Double lacunary statistical convergence of order α, 57(1) (2015),
- 10. E. Savaş, Double almost statistical convergence of order α , Adv. Difference Equ. 2013 (2013), 62.

11. U. Yamancý, M. Gurdal, On asymptotically generalized statistical equivalent double sequences Via Ideals, Electron. J. Math. Anal. Appl. **3**(1) (2015), 89–96.

Department of Mathematics and Statistics University of North Florida Jacksonville Florida USA drabmir@yahoo.com

Department of Mathematics and Statistics University of Victoria British Columbia Canada harimsri@math.uvic.ca

Department of Mathematics Uşak University Uşak Turkey ekremsavas@yahoo.com (Received 02 02 2021)